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37�� ;<=� LV� RQH� RI� WKH� ODUJHVW� FRQVWUXFWLRQ� FRPSDQLHV� LQ� ,QGRQHVLD�� 6LQFH� �����

LQIUDVWUXFWXUH�GHYHORSPHQW�LQ�,QGRQHVLD�KDV�LQFUHDVHG�UDSLGO\��WKHUHIRUH� 37��;<= LV�UHTXLUHG�WR�

PDLQWDLQ�DQG�LPSURYH�WKH�TXDOLW\�RI�LWV�ILQDQFLDO�VWDWHPHQWV� 5HYHQXH�LV�DQ�LPSRUWDQW�HOHPHQW�LQ�

WKH� ILQDQFLDO� VWDWHPHQWV�� 7KH� SXUSRVH� RI� WKLV� VWXG\� LV� WR� GHWHUPLQH� WKH� DSSURSULDWHQHVV� RI� WKH�

DSSOLFDWLRQ�RI�UHYHQXH�UHFRJQLWLRQ�ZLWK�36$.�1R��� �UHYLVLRQ�������LQ�RUGHU�WR�SURGXFH�D�SURSHU�

ILQDQFLDO� VWDWHPHQWV�� 7KLV� UHVHDUFK�XVHV�4XDOLWDWLYH�'HVFULSWLYH�PHWKRG�ZLWK�3/78�-HQHSRQWR�

IURP 37��;<= DV�WKH�REMHFW�RI�UHVHDUFK� 3/78�-HQHSRQWR XVHV�SHUFHQWDJH�RI�FRPSOHWLRQ�DV�WKH

PHWKRG�RI�LW¶V�UHYHQXH�UHFRJQLWLRQ��2YHUDOO��DV�RI�'HFHPEHU������ZLWK�UHYHQXHV�UHFRJQL]HG�DW�5S�

�����������������3/78�-HQHSRQWR KDV�DGRSWHG�36$.�1R�����ZHOO�

.H\ZRUGV��36$.�1R�����5HYHQXH��&RQVWUXFWLRQ�&RPSDQ\

$%675$.

37��;<= PHUXSDNDQ VDODK�VDWX�SHUXVDKDDQ�NRQVWUXNVL�WHUEHVDU�GL�,QGRQHVLD��6HMDN�WDKXQ�

�����SHPEDQJXQDQ�LQIUDVWUXNWXU�GL�,QGRQHVLD�PHQLQJNDW�GHQJDQ�SHVDW� ROHK�NDUHQD�LWX� 37��;<=

GLWXQWXW�XQWXN�PHQMDJD�GDQ�PHQLQJNDWNDQ�NXDOLWDV�ODSRUDQ�NHXDQJDQQ\D��3HQGDSDWDQ PHUXSDNDQ�

VDODK� VDWX� XQVXU� SHQWLQJ� GDODP� ODSRUDQ� NHXDQJDQ�� 7XMXDQ� GDUL� SHQHOLWLDQ� LQL� \DLWX� XQWXN�

PHQJHWDKXL�NHVHVXDLDQ�SHQHUDSDQ�SHQJDNXDQ�SHQGDSDWDQ�GHQJDQ�36$.�1R�����UHYLVL�������DJDU�

GDSDW��PHQJKDVLONDQ�ODSRUDQ�NHXDQJDQ�\DQJ�ZDMDU��3HQHOLWLDQ�LQL�PHQJJXQDNDQ�PHWRGH�'HVNULSWLI�

.XDOLWDWLI�GHQJDQ�3UR\HN�3/78�-HQHSRQWR�SDGD�37��;<=�VHEDJDL�REMHN�SHQHOLWLDQ��3UR\HN�3/78�

-HQHSRQWR�PHPDNDL�SHUVHQWDVH�SHQ\HOHVDLDQ�VHEDJDL�PHWRGH�SHQJDNXDQ�SHQGDSDWDQQ\D��6HFDUD�

NHVHOXUXKDQ�� VDPSDL 'HVHPEHU� ����� GHQJDQ� SHQGDSDWDQ� \DQJ� WHODK� GLDNXL� VHEHVDU�

5S���������������� GDQ 3UR\HN�3/78� -HQHSRQWR� LQL� WHODK�PHQHUDSNDQ� 36$.�1R�� ��� GHQJDQ�

EDLN�

.DWD�NXQFL� 36$.�1R�����3HQGDSDWDQ� 3HUXVDKDDQ�.RQVWUXNVL


